Year 11 How to revise programme

Knowledge Organisers
and

Mind mapping



Knowledge organiser

What are knowledge organisers?

A sheet that has a summary of a topic/unit/book/case study on it — this includes key facts

and information.

Why are they useful with revision?

All the information is in one place.

Summaries can help jog memories to add more detail
Can be used to guide revision planning.

Can be used as a checklist or RAG system of confidence.

Economic
HiC, LiC, NEE
Development gap

CHANGING ECONOMIC WORLD Key words

Case studies
Nigeria (LIC-NEE) and UK (HIC)

Social inequality

Development Indicators (GNI, HDI, life expectancy, access to clean water)
Demographic Transition Model

Population structure (young dependants, economically active, aged dependants)
Colonisation

Debt relief

Physical causes of uneven development

Measuring development

GNI, HDI, life expectancy, access to clean water, literacy rates and birth/
death rate can help us understand how developed a country is.

BUT social inequality exists everywhere so there will still be areas of poverty
in a HiC and areas of wealth in LiCs.

Choropleth maps and scatter graphs are used to represent this information
and make comparisons between places.

Poor environment. Such as desert/mountain makes it harder to develop as
there is less space and people to do so.

Landlocked. If a country is landlocked it is harder to trade with others to
create income.

Extreme weather/hazards. If a country experiences extreme weather or
hazards regularly then progress is destroyed after a disaster.

Lack of water. Means they cannot farm or provide water for themselves so
the workforce is lower

Climate related diseases. This reduces the workforce as they are too ill to
work

Lack of raw materials. So the country has nothing to turn into resources and
sell on

Reducing the gap

Human causes of uneven development

Investment—example Africa

Countries or Trans National Corporations (e.g. Apple) invest money and expertise
(skills) in LiCs to increase their profits. Means more jobs are created, more taxes
paid, more spending and can improve roads, electricity, housing and water supply)

Population structure. If there are a more dependants (young/elderly) than
economically active then a country cannot make as much money through
taxes and spending, so they will develop slower than a country that has a
larger economically active population

Migration. The Brain Drain as economically active people move to other
countries for better working conditions/pay means the country they have left
has less people working.

Colonisation. When colonies collapsed (e.g. British Empire), countries that
were previously occupied were left with nothing and had to rebuild
themselves. Will take longer to develop as a result

Industry. Some countries have always had a strong industrial history due to
earlier development and investment

Poverty. Countries need a skilled workforce to increase industry. Areas that
rely on farming (low skill) cannot make as much money through trade.

Industrial development

Factories are built either by the country or by investors. This means more
employment opportunities are created so more people paying taxes and spending
Can also make products to trade. Can then make improvements by spending tax
money

Tourism—example Caribbean (Jamaica)

Encourage tourists to come to the country on holiday. Build hotels, restaurants and
attractions. Means jobs are created and money is being spent in the area so can
then make improvements

Aid —support from other countries or charities, do not have to pay it back
Debt relie—money owed to other countries reduced to allow spending

Fair trade—strong price for products sold to other countries




Read

This could be used to
create prompt/flash cards
and mind maps with this
information.

CHANGING ECONOMIC WORLD Key words

Case studies
Nigeria (LIC-NEE) and UK (HiC)

Economic

HiC, LiC, NEE
Development gap
Social inequality
Development Indicators (GNI, HDI, life expectancy, access to clean water)
Demographic Transition Model

Population structure (young dependants, economically active, aged dependants)
Colonisation

Aid

Debt relief

Physical causes of uneven development

Measuring development

. GNI, HDI, life expectancy, access to clean water, literacy rates and birth/
death rate can help us understand how developed a country is.

. BUT social inequality exists everywhere so there will still be areas of poverty
in a HiC and areas of wealth in LiCs.

. Choropleth maps and scatter graphs are used to represent this information
and make comparisons between places.

Human causes of uneven development

. Poor environment. Such as desert/mountain makes it harder to develop as
there is less space and people to do so.

. Landlocked. If a country is landlocked it is harder to trade with others to
create income.

. Extreme weather/hazards. If a country experiences extreme weather or
hazards regularly then progress is destroyed after a disaster.

. Lack of water. Means they cannot farm or provide water for themselves so
the workforce is lower

. Climate related diseases. This reduces the workforce as they are too ill to
work

. Lack of raw materials. So the country has nothing to turn into resources and
sell on.

Reducing the gap
. Investment—example Africa

Countries or Trans National Corporations (e.g. Apple) invest money and expertise
(skills) in LiCs to increase their profits. Means more jobs are created, more taxes
paid, more spending and can improve roads, electricity, housing and water supply)

. Population structure. If there are a more dependants (young/elderly) than
economically active then a country cannot make as much money through
taxes and spending. so they will develop slower than a country that has a
larger economically active population.

. Migration. The Brain Drain as economically active people move to other
countries for better working conditions/pay means the country they have left
has less people working.

. Colonisation. When colonies collapsed (e.g. British Empire), countries that
were previously occupied were left with nothing and had to rebuild
themselves. Will take longer to develop as a result.

. Industry. Some countries have always had a strong industrial history due to
earlier development and investment.

. Poverty. Countries need a skilled workforce to increase industry. Areas that
rely on farming (low skill) cannot make as much money through trade.

L4 Industrial development

Factories are built either by the country or by investors. This means more
employment opportunities are created so more people paying taxes and spending.
Can also make products to trade. Can then make improvements by spending tax
money

. Tourism—example Caribbean (Jamaica)

Encourage tourists to come to the country on holiday. Build hotels, restaurants and
attractions. Means jobs are created and money is being spent inthe area so can
then make improvements .

. Aid —support from other countries or charities, do not have to pay it back
. Debt relie—money owed to other countries reduced to allow spending

. Fair trade—strong price for products sold to other countries




Use information to identify
the pros and cons
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Create your own knowledge organiser

1. Identify the key words and include definitions

2. Break the topic down into relevant sections.

This will mean looking through your book, looking online (exam board or revision websites) or
information from your teacher to identify suitable ones.

The whole point of a knowledge organiser is to summarise the information.

They need detail but in summary form.
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wh: wl:, e Q.N.rﬁ SuS’W'N’O‘U*i'
3 PR T
OR A ¥
©) =
@ Gealeyy 00 Hew conwe reduce

% (/] s 0 P
@t :l(. ﬁ oWl v bon W"t'
‘

®%:%
o f

ERNERGY pe\ 2 =

Definizions : )}

* Hazasa?

* Uazara Risk?

X (Shax moy affect hazam risk?

PLATE BouNOARIES
b [PESTRTE BHERED - o
Feoswre,?

= 0CROAC =3 Conk (asacad.

——

GWwos if oceanic — otranie 7

B {CoNSTRUCTIVE BounDAR'T)- procams.?

- features?

==

c_,mou.ns\w Bomoaey)- procems,”

- feorure,?

=2

{s-rp\uc‘m&i of Tue Ehl‘\'ld.}

» (o)

TecTonic HAZARDS.

Tupes OF cawsT. - Differncar?

OCEANIC QRUST 'v' CONTINENTAL CRUST.

~ ReEnsans .,

(‘-.) CoNVECTION CURRENTS

i) S1as Pus | asoae pusu.

DISTRIBUTION OF EMRTHQUAKES | Vortamots

REASONS Wity CONTINUE To LIVE
NEBe Voot

{ EARTUQUAKES. )

~ procama?

~feorvrea?

Z

Focus? -
\ Vad TourisM

EPicentre ? - 3

P )

£ . ‘
MERSNG EReTUQUaKES 7 P vy
Socua x 4 \
RERSONS MINIE .
i

GECTUERMALENERGY,
WKY 00 PEOAE CONTINLE To LIVE 1N ARERS Pront

To BARTRQUAKES 7

weble/ N

./ @ e finke @

® | semend
@mqut F}

<




Knowledge organiser should include:
Characters
Themes
Symbols
Chapter summaries
Key quotes

nelish example
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Mind Mapping

What is mind mapping?

A mind map is a diagram used to visually organise information that can help you
remember large chunks of information through a hierarchical structure.

. ° e o ervie_u\/
Why are mind maps useful with revision? i S

Eas fbmemo‘ﬁ'e\/
o/ W
Simple, East 5~ ) .
< 7\\\

\\ll/,

Breaks the information down into chunks

Creates themes and connections between details

Visually a helpful aid to memory

Involves choices and decisions into the learning of content



Your brain is like a very
large filing cabinet. You
never actually forget
anything, you just haven't
filed it very carefully.

This makes it difficult to
“find” the bits of
information you need to
remember.

Mind mapping helps
your brain recognise
the importance of this
information and “file” it
nearer to the front
(to make it easier to find
and use).




When we try and learn S : N Mind mapping gets you to
information, we are only | ' N - ' make decisions about the

using a relatively small — - . information, which helps
section of our brain > commit this information to

e -

Short term memory) 7“‘ S~ " ‘ « & Yyour Long Term memory

11‘

~. ™ These decisions build more
neural pathways to where

Research shows that within - ~ _ e )
just one hour, if nothing is | | P (l},,‘:,_‘: that information is stored in
i I your brain, making it easier

done with new information, ‘ — ' N
most people will have vl to find and therefore,
forgotten about 50% of NN improving your
what they learned. NN memory!!



https://uwaterloo.ca/campus-wellness/curve-forgetting

Creating your own mind map...

In order to create an effective mind map, you need to first understand the rules involved:
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. You must create it yourself (don’t copy someone else’s)

You need to think about your design and structure,

making sure all the following are used:
a. Different colours

CAPITALS and lowercase letters

Sections and sub-sections

Drawings and diagrams

An appropriate size of topic

© Qo o0 T

You must TEST YOURSELF - do you know all the
information?

I”

It is not a “one size fits all” answer - you may want it
just for certain subjects / topics only



Mind Mapping examples...
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